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SN BA(SA) - MRAY - BES 0l &t o il HImEET
( JSESE= 3,646
CL=EEE=RES 71
OH=RE= 2,323
CHLEBERES 1,630
OEIIRYEER 103
H=AZHAH =S HUSHHUE =& X2 1,800 0 1,800
307 glz2+ol & 1,800 0 1,800
02 It MNAMHEE 1,800 0 1,800
OF=AZMRMSFE WA HE =& XA 1,800
=M= 22X 58,020 0 58,020
< 58,020
201 Let2d] 58,020 0 58,020
< 58,020
01 At 22l 58,020 0 58,020
OdJIEE AUHEXNE - s & N 55,020
< 55,020
odass 24EX& 3,000
< 3,000
d=FH=HE 2SR 16,978 0 16,978
< 16,978
201 Let24E] 16,978 0 16,978
= 16,978
01 At 22l 16,978 0 16,978
OZJI &Y HHEXH - s S XA 15,978
< 15,978
Odstss 2EAE 1,000
= 1,000
H=slz 29 XN& 1,719,680 1,605,030 114,650
< 229,500
Al 1,490,180
O M=Uz X2 21,000 46,000 A 25,000
301 gErE L= 10,000 10,000 0
1MIIEBESS 10,000 10,000 0
Od= ZFUM MUz &=A 10,000
307 glz2+ol & 11,000 36,000 A 25,000
02 QIZtE A AHE X 11,000 36,000 A 25,000
OHat=E =012 M=l &8 6,000
OXU=ET XNHMEBMS MSUHI =H 5,000
d=gCteleteldietEE 220,000 0 220,000
= 100,000
Al 120,000
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307 glz2tol & 220,000 0 220,000
< 100,000
Al 120,000
04 DI2HHALALSE E X 220,000 0 220,000
Odz=3CEolcteltt2tEW S 220,000
< 100,000
Al 120,000
Hegm 823 U3 85,000 80,000 5,000
< 5,000
Al 80,000
307 glz2+ol & 85,000 80,000 5,000
< 5,000
Al 80,000
04 QIZFHALAIH B = 85,000 80,000 5,000
OM37el W= d=+=SUz=l 85,000
< 5,000
Al 80,000
FHHSAZRHAI] HISHALOIZSUE 90,000 90,000 0
307 21201 A 90,000 90,000 0
04 DIZHHALALSE E X 90,000 90,000 0
OHM473 2SR 2I] d=stHAM0I2
=l 90,000
S M2 ARA d==AH3 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIH B = 30,000 30,000 0
OM128 20 & H=2 AFHA d=HUHE 30,000
dF=2E IMBAZ=UE 200,000 200,000 0
< 50,000
Al 150,000
307 gl2tol & 200,000 200,000 0
< 50,000
Al 150,000
04 DIZHHALALSE E X 200,000 200,000 0
OE=2LE ZMEHAZUHS 200,000
= 50,000
Al 150,000
S8 =& =2 REU3E 20,000 20,000 0
307 i+l & 20,000 20,000 0
04 QIZFHALAIH E &= 20,000 20,000 0
O2=+8 =& 3 203 20,000
HdEM= 5202 MdIBECEHS 50,000 0 50,000
< 15,000
Al 35,000




2N
X ZH -
L= B

el

=

i
2m

H

Al

50,000

15,000
35,000

Al

50,000
50,000

15,000
35,000

50,000

2

1
]
o
=]
1]

65,000

77,000

A 12,000

65,000

77,000

A 12,000

65,000

65,000

77,000

A 12,000

30,000

30,000

30,000

30,000

30,000

30,000

30,000

20,000

20,000

20,000

20,000

20,000
20,000

20,000

M

Al

30,000

10,000
20,000

40,000

210,000

307 glz2tol ™

t

Al

30,000

10,000
20,000

40,000

210,000

H

Al

30,000
30,000

10,000
20,000

40,000

A 10,000

35,000

40,000

A5,000

35,000

40,000

A5,000

35,000
35,000

40,000

A5,000

6,000

5,000

1,000

6,000

5,000

1,000

6,000
6,000

5,000

1,000

4,500

4,500




S RS = Faig=a i,
g MsdE 2435
2 M 29 X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 4,500 4,500 0
04 DI2HHALALSE E X 4,500 4,500 0
ON58 MFAIEI S&tUI 4,500
HFAED E=zddZ2 U3 25,000 25,000 0
307 eIzl & 25,000 25,000 0
04 QIZFHALAIH E = 25,000 25,000 0
OM203 8FAEI d=3dEHSEUE 25,000
H=AZEI BHAZOS 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OHM21al 8FAEI BHE U2 5,000
d=AIED =203 9,000 9,000 0
307 21201 A 9,000 9,000 0
04 DIZHHALALSE E X 9,000 9,000 0
OHM263 d=AIEI U3 9,000
HFAEH =552 0UE 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 DI2HHALALSE E X 5,000 5,000 0
OHM223l 8F=AEH =S=57US 5,000
H=AEI gHd=E W3 6,000 5,000 1,000
307 glz2tol & 6,000 5,000 1,000
04 QIZFHALAIH B = 6,000 5,000 1,000
OXM252 dFAIEI =2 U= 6,000
H=AIZE BP0 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIH B = 6,000 6,000 0
OHM7sl MF=AIEH HERUE 6,000
dF=AETH =403 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OHM1558 EFAIEH =2H=2a03 5,000
Hd=ANEH 8= LE 5502 E§32U3 9,500 9,500 0
307 glz2tol & 9,500 9,500 0
04 QIZFHALAIH E = 9,500 9,500 0
OHM2538] 8FAIEH 82 2Z 55 70U
3 9,500
d=AIZEH SEUE iU 3 10,000 10,000 0
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307 glz2tol & 10,000 10,000 0
04 DI2HHALALSE E X 10,000 10,000 0
OHM223l MF=AIZH SEUE AU 10,000
H=AZEH d=2FE=U3 17,100 17,100 0
307 eIzl & 17,100 17,100 0
04 QIZFHALAIH E = 17,100 17,100 0
OHM17al EFAIEH 2B 17,100
H=AZH RECHS 6,000 5,000 1,000
307 21201 A 6,000 5,000 1,000
04 QIZFHALAIH B = 6,000 5,000 1,000
OHM223 MFAEU R=U 6,000
d=AIEH =S U3 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
ORM143 M=AIZH =ZU3 6,000
dFAIEH EAESEUE E2U3 12,500 12,500 0
307 glz2tol & 12,500 12,500 0
04 DI2HHALALSE E X 12,500 12,500 0
OHM7a MFATH FA2EUSHUE 57U 12,500
HF=AZH sFCHSE 9,000 9,000 0
307 glz2tol & 9,000 9,000 0
04 QIZFHALAIH B = 9,000 9,000 0
OHM163 M=AZH s2U3 9,000
H=AIZEE HUACS 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 QIZFHALAIH B = 4,000 4,000 0
OHM253 EFAIEH HILIATE 4,000
dF=AETH g2 W 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DIZHHALALSE E X 3,000 3,000 0
OHM153 MFAIEH H=E U3 3,000
HFAIZHE BHESIE S 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OMB8al MFAIZH BHEE S 5,000
HAFAIEH 68 & FRAZANNESUE 4,000 4,000 0
307 21201 A 4,000 4,000 0
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04 QIZHHALALH B £ 4,000 4,000
OHM13a HFAIZH HE & FREMEHES
tHal 4,000
dF=AIEE data 4,000 4,000
307 @lztol & 4,000 4,000
04 QIZHSHALALH 2 £ 4,000 4,000
OHM163 MFAIZH AU 4,000
HFAIEE &= Ot0t Bt =l 20,000 20,000
307 glztol & 20,000 20,000
04 QIZtHAALE 2 = 20,000 20,000
OM132 M=AIZH &A= Ot0t HBISU 2 20,000
HFAIEH M| 2FHAU 9,500 9,500
307 212t0l & 9,500 9,500
04 QIEHAALE 2 = 9,500 9,500
OM123 HFAIZH d2HF AFH AU 9,500
AT 42X d=SZLS0IEUHS 5,000 5,000
307 212t0l & 5,000 5,000
04 DIZHSHALALH 2 & 5,000 5,000
QN4 H=AH H2HSE ASZTLS0E
il 5,000
HFAEH HEHs 852 SEIIHE 5,000 5,000
307 212tol & 5,000 5,000
04 QIESHAALE 2 = 5,000 5,000
ORM142 HFAIZH HEHF det==2 =4
JIthal 5,000
SFAEH HEMS HELEU S 9,500 9,500
307 glztol & 9,500 9,500
04 QIZHAALE 2 = 9,500 9,500
OHM283l HF=AITH HEXM= H=ES S U3 9,500
HB=AZH HEHSE 8= HAUS 4,000 4,000
307 212t0l & 4,000 4,000
04 QIESHALALE B = 4,000 4,000
OHN192 M==AY 4EMS d= SHAU 2 4,000
SN 4EME 8= 72U 9,500 9,500
307 212t0l & 9,500 9,500
04 DIZHSHALALH 2 £ 9,500 9,500
ON203 HFAHH d2Ms d= 72U 9,500
A=A dEHME 85 =28 F72U 10,000 10,000
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307 glztol & 10,000 10,000
04 QIZHHALALH B £ 10,000 10,000
ON153 HFAIHH dE8MS A= =3 4
tHal 10,000
A=A GEME 29 - A2E03 16,000 16,000
307 212t0l & 16,000 16,000
04 DIZHSHALALH 2 & 16,000 16,000
QN33 HFAHH HEHME 23] - 2:2C
tHal 16,000
AT H2Hs d= SIIRsU 7,000 7,000
307 212t0l & 7,000 7,000
04 QIESHALALE B = 7,000 7,000
OHM17a H=AITH HEHS 8= BIIEF=
il 7,000
A=A S d=Us SEUHSs2UE 9,400 9,400
307 212t0l & 9,400 9,400
04 QIZEHAALE 2 = 9,400 9,400
OHN152 M==AY d42Ms d=Us S U
g7z 9,400
A=A dEMSE IS UHEAAUE 5,000 5,000
307 glztol & 5,000 5,000
04 QIZtHAALE 2 = 5,000 5,000
OQN73 HFAIZH HEHSE dSHEAUZ 5,000
HAFAIEH dEHs 2C02Y - FEIHCHE 9,500 9,500
307 212t0 & 9,500 9,500
04 QIEHAALE 2 = 9,500 9,500
ORM112l E=AEH 4= 2C02E - JE
BHCICH 3 9,500
HAFAZH H2HSE 02 AHNOE=UZ 5,000 5,000
307 giztol & 5,000 5,000
04 QIZtHAALE 2 = 5,000 5,000
ORM232 HFAIZH H2HF HE4 HOE=
thal 5,000
A=A EME 83U =U3 4,000 4,000
307 glztol & 4,000 4,000
04 QIZtHAALH 2 = 4,000 4,000
ORN162 HFAH dEMs d=UEUS 4,000
HFAEH felots EMEZZ AU 13,600 13,600
307 212t0 & 13,600 13,600
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04 DI2HHALALSE E X 13,600 13,600 0
OHM23al 8=AIZH Seclote MEHMZZ AN
3 13,600
SF=ATH dEHS 82 55 AJNOEHE 9,500 9,500 0
307 glz2tol & 9,500 9,500 0
04 DIZHHALALSE E X 9,500 9,500 0
OM143 H=AIZH HEHS d= S5 A
AOIE =2l 9,500
HFAZH MEHs == 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
OM11al MFAIZH MEME ZZUE 6,000
SF=AEI HEHS Mo 8=22=UE 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
04 DIZHHALALSE E X 7,000 7,000 0
OHM30& HFAIEI| MEHF MW 82SE
th=l 7,000
HFAIZH MEHE =2SI12UH3 4,000 4,000 0
307 2201 A 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
OHN6sl MFAIZH MEME FSI2UH 4,000
HF=AZH dEH=S HAE S EUHE Z&UE 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 DI2HHALAISE E X 5,000 5,000 0
OXFAZH MEHE F44E SHUE &MU
3 5,000
SdFAIEEE Ol=HILIATHR 6,000 0 6,000
307 gl2tol & 6,000 0 6,000
04 DI2ZHHALALSE E X 6,000 0 6,000
OM133 MFAIZH Ol=HILIACE 6,000
HF=AZH dEHS AAAIHUE 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OMb5a MFATH MEHE A2UAIHUS 5,000
H=AZH MEXM= LIH3ZU3 5,000 4,000 1,000
307 21201 A 5,000 4,000 1,000
04 QIZFHALAIH B = 5,000 4,000 1,000
OXNb5s MF=AITH MEM= LIHI=ZUE 5,000
HFAIZH MEHs ISZTHAMSHS 5,000 5,000 0
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307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
OHMb53 MFTAIEE MEHs MSFHMHAMSH
3| 5,000
HFAEH MEHS =H4AIRHOAZEU S 10,000 10,000 0
307 212t01 & 10,000 10,000 0
04 QIZHSHAFAIE 2 X 10,000 10,000 0
OMb53 HMFAHH MEME =AAIA0A
SEU3 10,000
HEANTH MEHMES AZ2ZUS 3,000 3,000 0
307 QI2t0| ™ 3,000 3,000 0
04 DIZHSHAFAIRE 2 X 3,000 3,000 0
OM23 HMF=ANMEH HEME A3 ZUHS 3,000
dF=AIEE MEXE M=ENU2E=ZUS 5,000 4,000 1,000
307 212t01 & 5,000 4,000 1,000
04 QIZHSHAFAIE 2 X 5,000 4,000 1,000
OM43 HF=ANEH MEXNES ¥ AA2E2T
tHal 5,000
HFAEH MEME d3=2L=4US 5,000 5,000 0
307 QI2t0| M 5,000 5,000 0
04 DIZHSHAFAIRE 2 X 5,000 5,000 0
OHM43 HZ=AIEH MEH=E L=AUI 5,000
MF=AEH MEMSE 2UHEOICS 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
OHMb53 HEF=AIEH MEH=E POHEOICHS 5,000
d=Hd & SEXA 9,500 9,500 0
307 QI2t0| & 9,500 9,500 0
02 AI2tAAMAIEE =X 9,500 9,500 0
O&=M&E S E&8X& 9,500
HE=HM0ctENS &H 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
02 DI2ZHE AAIEE X 5,000 5,000 0
OHM30s M=d4NOI2HEUS B8 5,000
hesdth WMEE Al &3 2,000 2,000 0
307 212t01 & 2,000 2,000 0
02 DIZtZAAMEE X 2,000 2,000 0
OlSEH WNEE Al A3 2,000




2AM: Mo
=ds

PSS = 243
@2 dA=x0s 29 N (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HEgH NEE & d2Us &8 3,000 3,000 0
307 212t01 & 3,000 3,000 0
02 DIZtZAAMEE X 3,000 3,000 0
oHsSEl NEE & Ad2U3 && 3,000
MEHE HSHANEX A 9,500 9,500 0
307 212t01 & 9,500 9,500 0
02 DI2ZtZ &AM E X 9,500 9,500 0
OM243] MEHYX FHNEZA HE 9,500
MEN=E AHE =R 23 2 24 7,200 7,200 0
307 QI2t0| M 7,200 7,200 0
02 DI2HEAAIEE X 7,200 7,200 0
OMENS AHEIH 22 2 U4 7,200
e SFRUNE 29 7,000 7,000 0
307 QI2t0| ™ 7,000 7,000 0
02 DI2ZHE MAIEE X 7,000 7,000 0
0Sads =DM 29 7,000
Hed MExsiz &4 5,000 5,000 0
307 212t01 & 5,000 5,000 0
02 DIZtZ AAMEE X 5,000 5,000 0
oza MEH=USE =X 5,000
AL I(OF0)-21a sRUHE 22,230 22,230 0
307 212t01 & 22,230 22,230 0
02 AI2HAAMAIEE =X 22,230 22,230 0
O&EFAl I(0t01)-21a s=7U3 22,230
d=ad=s203 & 2,500 2,500 0
307 QI2t0| ™ 2,500 2,500 0
04 QI2SHALAIE E = 2,500 2,500 0
Od=&E=zU3 =& 2,500
HFA HILIASES A HLULAWS 2,500 2,500 0
307 QI2t0| ™ 2,500 2,500 0
04 OI2tSH AFAFS B = 2,500 2,500 0
OHM163 &E=Al HILIASES &H HLALS 2,500
HF=AEH S52 Ot 3 6,000 5,000 1,000
307 212t01 & 6,000 5,000 1,000
04 QIZHSHAFAIHE 2 X 6,000 5,000 1,000
OHM93l H=AIEH =50 Or2CH3l 6,000
HFTAl HEWN MEMEs 22U 3,000 2,500 500
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04 RIZFHALALH 2 = 50,000 0 50,000
OdzF ZM=F d=2U3 50,000

20,000
Al 30,000

H

dF HOISZH dEds =087 UE 15,000 0 15,000
5,000
Al 10,000

H
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8,000 0 8,000

5,000
Al 3,000

H

307 21201 & 8,000 0 8,000
5,000
Al 3,000

2l

04 QIZHHALALH B = 8,000 0 8,000

OUSHMUMS2 & E=ZHA=S U 8,000
5,000
Al 3,000

H

d=HE3dls &8 4,000 0 4,000

307 glztol & 4,000 0 4,000

02 It HAMNAEE 4,000 0 4,000
A ZHUE £H 4,000

I A=RlUstddr-d e E AUt 60,000 0 60,000

10,000
50,000

=

307 21201 A 60,000 0 60,000

10,000
50,000

= M




AN MSAS B
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gelr stz 29

2 (e a2
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 60,000 0 60,000
O3FI dIUsBEd=AU L AIUHE0
B2 U&d 60,000
< 10,000
Al 50,000
d=st=20s AZ=Z2ct0/Y U3l 34,500 0 34,500
< 4,500
Al 30,000
307 glz2tol & 34,500 0 34,500
< 4,500
Al 30,000
04 DIZHHALAISE E X 34,500 0 34,500
Ost=0t2H 2XZ=22101Y 3 34,500
< 4,500
Al 30,000
H=AIZEE 2IHCHS 5,000 0 5,000
307 glz2+ol & 5,000 0 5,000
04 QIZFHALAIH B = 5,000 0 5,000
OXM1sl MF=AIEH RItU = 5,000
HF=AZEI &S 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 QIZFHALAIH B = 5,000 0 5,000
OM1sl dFAIEI S&Ua 5,000
CHetM S Z Al - EUHE 825203 30,000 0 30,000
307 gl2tol & 30,000 0 30,000
04 DIZHHALALSE E X 30,000 0 30,000
OUESHMSIHU Al - SUHE d=2=532013 R
Xl 30,000
MEH=s 243 XA 1,791,774 1,434,510 357,264
J| 827,412
< 243,137
Al 721,225
MEHsSRY 29 158,300 158,300 0
= 47,490
Al 110,810
307 21201 A 158,300 158,300 0
< 47,490
Al 110,810
02 UAFAAFEX 158,300 158,300 0
odENsns 29 158,300
< 47,490
Al 110,810
LOHMENSXNEA ESKE 179,256 204,864 A 25,608




S RS = Faig=a i,
Yy MSNE 245
ool dads 243 N2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 89,628
Al 89,628
307 glz2tol & 179,256 204,864 A 25,608
J| 89,628
Al 89,628
02 It M AHE X 179,256 204,864 A 25,608
oYt aEsSNEN 2SKH 179,256
J| 89,628
Al 89,628
HEAMMENSNEN 25X 153,648 179,256 A 25,608
J| 76,824
Al 76,824
307 21201 A 153,648 179,256 A 25,608
J| 76,824
Al 76,824
02 LAFAAHEX 153,648 179,256 A 25,608
OZNMENSKNEXL ESXE 153,648
J| 76,824
Al 76,824
dEHs sseeld 24 128,400 128,400 0
< 38,600
Al 89,800
307 21240 128,400 128,400 0
= 38,600
Al 89,800
02 IZtF M AHE L 128,400 128,400 0
odENsE sl 24 128,400
< 38,600
Al 89,800
MEHSZE 29 231,090 231,090 0
< 69,327
Al 161,763
307 212+0 & 231,090 231,090 0
< 69,327
Al 161,763
02 QIZtE M AHEE 231,090 231,090 0
odgiszdd 29 231,090
< 69,327
Al 161,763
HEHE 2 A2 7,000 7,000 0
201 Let24d] 7,000 7,000 0
02 222 7,000 7,000 0
odMaEH=x 2T RANE+ 7,000
St SO E 26,880 25,200 1,680
J| 11,520




S RS = Faig=a i,
Yy MSNE 245
ool dads 243 N2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,840
Al 11,520
301 et 8= 26,880 25,200 1,680
J| 11,520
< 3,840
Al 11,520
01 MEIBEZE 06z 26,880 25,200 1,680
OstMS0HM & 26,880
J| 11,520
< 3,840
Al 11,520
AZAH0IEA X 499,200 470,400 28,800
J| 349,440
< 74,880
Al 74,880
301 et a3z 499,200 470,400 28,800
J| 349,440
< 74,880
Al 74,880
01 AR 2Z A 53 499,200 470,400 28,800
OAZ=2X0EA XA 499,200
J| 349,440
< 74,880
Al 74,880
hstolzet 22 MEMsSZIZIH 2F 40,000 30,000 10,000
< 9,000
Al 31,000
307 glz2tol & 40,000 30,000 10,000
< 9,000
Al 31,000
02 IZtE M AHE L 40,000 30,000 10,000
otistome #8 Mgz Y 23 40,000
< 9,000
Al 31,000
dF=AZXSY2Y 330,000 0 330,000
J| 300,000
Al 30,000
307 glz2+ol & 330,000 0 330,000
J| 300,000
Al 30,000
02 QIZtE M AHEE 330,000 0 330,000
OXFALZ=ZHRIZ 330,000
J| 300,000
Al 30,000
Zo MEMSRY 2 18,000 0 18,000
307 21201 A 18,000 0 18,000




S RS = Faig=a i,
g MsdE 2435
chelr MENS 245 X GEERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 It M AHE L 18,000 0 18,000
OZMAUMEMSNY 2 18,000
NS SBAEZX 2 EAMY 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
02 HAHFHAANGFEX 20,000 0 20,000
OXNE SSAZL=SEHMH 20,000
s 243 18,159,512 12,266,314 5,893,198
J| 1,000,000
< 35,000
Al 12,724,512
T 4,400,000
M=xsAMd XA 18,159,512 12,266,314 5,893,198
J| 1,000,000
= 35,000
Al 12,724,512
T 4,400,000
HSAL2HE Ald2e3E dEZ 8,793,912 8,213,714 580, 198
309 HES 7,488,712 7,777,514 A 288,802
01 SAL- SHINHES 7,488,712 7,777,514 A 288,802
OMSAZE2H 2HXE 7,488,712
404 SASHUA=2EHES 1,305,200 436,200 869,000
01 SA-SEHA=EEZ 1,305,200 436,200 869,000
OMSAL2E ALXE 1,305,200
MEAE 21228 300,000 300,000 0
401 A& HIZ 201 I 300,000 300,000 0
01 A& HI 300,000 300,000 0
OM=EAE 2I22¥ 300,000
HEAE |X2el 168,600 485,600 A 317,000
201 -4 168,600 485,600 A 317,000
02 2324l 168,600 485,600 A 317,000
OMSAE RX2c 5,600
OdUxs2 HREE 163,000
I0XNsHH AR 3,200,000 0 3,200,000
H 3,200,000
401 Al HIZ 2018 3,200,000 0 3,200,000
H 3,200,000
01 A& HI 3,195,000 0 3,195,000
O=2HMsHH AKX 3,195,000
T 3,195,000
03 Al 2 THHI 5,000 0 5,000
O=CXN=sdH AHXA 5,000

_20_




eAd N

- _ RE]
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
XH 5,000
CISHYH AR (HHOH) 2,000,000 2,000,000
Al 800,000
TH 1,200,000
401 Al HIZ 201 Y| 2,000,000 2,000,000
Al 800,000
TH 1,200,000
01 Al&H| 2,000,000 2,000,000
O=20HESHME HEXA(ZHE) 2,000,000
Al 800,000
TH 1,200,000
Z2HEANE HES XN (ALHASZ) 1,000,000 1,000,000
J| 1,000,000
401 AlEHIZL 2 0HY| 1,000,000 1,000,000
J| 1,000,000
01 Al&H| 1,000,000 1,000,000
O2Z2HMEANE HES I (AWHSsS2) 1,000,000
J| 1,000,000
2HEANE HES N (HE M WA 800,000 800,000
401 Al HI L £ 0HHI 800,000 800,000
01 Al& H| 800,000 800,000
OZ22MEANYE HES XA (HIE WA 800,000
YAZIE SHHIH 200,000 200,000
401 AlEHIZ 201 Y| 200,000 200,000
01 Al&H| 200,000 200,000
oO"/MAEIHY SHFIMA 200,000
SU MEXH=s 0F2&E M 100,000 100,000
401 AlEHI 2L 2 0HY| 100,000 100,000
01 Al&H| 100,000 100,000
Ozl MEM= OFF2H MA 100,000
HESANEE Y &4 59,000 59,000
401 Al HI L £ 0HHI 59,000 59,000
01 Al&EH| 59,000 59,000
ONM=ESANE=E 32 3 59,000
IEMEsd S32& AAX&C WA 650,000 650,000
401 Al HI L 2 0HHI 650,000 650,000
01 Al&H| 650,000 650,000
OUEZHESE =& AXXC WA 650,000
SAMEIT 2R AJHLIAZE 22dE 350,000 350,000
401 AlEHIZL 2 0HY| 350,000 350,000




S RS = Faig=a i,
g s 243
g2l MsASAE XS (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 350,000 0 350,000
oM MAAHUATE 222 350,000
NS M8y IFUMSsHH 28 18,000 0 18,000
401 A& HIZ 2018 18,000 0 18,000
01 A& HI 18,000 0 18,000
ONSH MEUHNY 2VHSME ALY B A
2o 18,000
HEALds 32 38 2 WAAEsEIt 70,000 0 70,000
< 35,000
Al 35,000
401 Al HIZ 201 Y] 70,000 0 70,000
< 35,000
Al 35,000
01 A& HI 70,000 0 70,000
OM=AEE 32 88 & WHdsEIt 70,000
< 35,000
Al 35,000
AUMs2 HE 28 BEE A 2249 200,000 0 200,000
401 AIEHI L 201 200,000 0 200,000
01 A& HI 200,000 0 200,000
OAUNSsZ HE 2H EIEdd A 89 200,000
22X M=24s AE =4 200,000 0 200,000
401 Al HI X 201 200,000 0 200,000
01 A& HI 200,000 0 200,000
OAAXY M43t A8 =4 200,000
otE MEAIE =4 50,000 0 50,000
401 Al HIZ 201 I 50,000 0 50,000
01 A& HI 50,000 0 50,000
OMSAE =& (004 50,000
HH2LZ U (MS A D) 63,176 56,368 6,808
Jl2ddl(Msagn) 63,176 56,368 6,808
Jl2dul(MsLg ) 63,176 56,368 6,808
201 L4l 31,496 27,208 4,288
01 At 2t 2l 26,496 22,208 4,288
OBt~ 14,400
O= &l 12,096
02 =224l 5,000 5,000 0
OXtg &l 5,000
202 oddl 28,080 24,960 3,120
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